1. Find the e uivalent i
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q nt inductance of the circuit below. LC/S,H‘ Li:.ZH’ andme e
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2. In the circuit below, using node1analysis\,l "'ﬂ
< \—__—§\
a. Find the current i.

b. Find the power dissipated in the iﬂ resistor.
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y 3. The circuit below has been idle for a long time (switch is open). At t = 0, the switch (' o/\)
3 is closed. O o \ M-HO(:L‘) i
a. Find the inductor current right before and | after the 1¢ switch is closed (i,(07), and o
iL(0%)). e
b. Find v, right before and after the swnch 1s closed (v,(07), and B (0)). lswo)
c. @\ nd plot v, (t). L'\f“\ Q Vo ooy 40
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